This is a "word cloud" based on the text from the abstracts
for all of my papers: the size of each word is proportional
to the word's frequency of occurrence. This graphic is
perhaps my best answer to the question "what do you do?"

The word cloud was built using Wordle (www.worldle.net).
approac

o assumptions ,E discrete !

number ® arge ]
2 framework £ investor g
Tp 5 g medical : ﬂghs models ‘- healthé :
2% ¥ trading (DWE“. & @ production make-
2e & “ 1 develop
-g o ) '!,f.‘ﬁi.i‘!“'e ° influence ﬂu COStS L references ma futures
str:ttesi:es lo “JI‘)?:I ggn f%.a,e.:fw",:"q“:s test Eolbablhtydeve.o,':‘::::‘.‘::‘::lm
0 tTecnnoio o % -galso options uality
g 9V nd ®ig sy B o rojects distribution
omt uncertalnty & state lm=ts _: B-E‘Ea i programming
problems 2:@ - bou ds g m A &psm‘r:g;?xploratlon

manv drilling 'Y - =
=dvnam,1s"‘*"°f:1‘“‘“ FOSUItSEERiE:: @ o
fn : FeSULISS gl = 2 & i@ e,
= propertles 'U qm, N ‘EE ,g. ~ approaches

Show function

determml:;g:mnmm - m ISIl:bl expected beliefs
-u us l ng aval e

representation

=) values one l dlagram

2. a
:"e- % E portfolio qp lnformatlon
'la Eused prlces q“ahty o § gg opportunities methOds
omt £ 3 positive investments better (U <] £g calculate
"U % modeling heuristics kinds .ﬁ 5 ET'; benefits

g ('] (1]

problem


jes9
Text Box
This is a "word cloud" based on the text from the abstracts for all of my papers: the size of each word is proportional to the word's frequency of occurrence. This graphic is perhaps my best answer to the question "what do you do?"
The word cloud was built using Wordle (www.worldle.net).
                                                 - Jim Smith 5/31/2012




